

# On the behaviors of solutions to a functional differential equation of neutral type with multiple delays

Melek Gözen<sup>1</sup>, Cemil Tunç<sup>2</sup>

<sup>1</sup>Department of Business Administration  
Management Faculty  
Van Yuzuncu Yil University  
65080, Erciş, Turkey

<sup>2</sup>Department of Mathematics  
Faculty of Sciences  
Van Yuzuncu Yil University  
65080, Van, Turkey

email: melekgozen2013@gmail.com, cemtunc@yahoo.com

(Received June 14, 2018, Accepted August 16, 2018)

## Abstract

We consider a linear functional differential equation of first order and neutral type with multiple constant delays and present a functional Lyapunov approach to square integrability and asymptotic analysis of solutions of the equation considered. Consequently explicit criteria are derived for square integrability and asymptotic analysis of solutions of the equation considered. A discussion of the result obtained and an illustrative example are given. The result given extends and improves some found in the literature.

## 1 Introduction

We know from the relevant literature that functional differential equations of neutral type have numerous applications in science, engineering, medicine

---

**Key words and phrases:** Functional differential equation of neutral type, first order, multiple delays, asymptotic stability, square integrability, Lyapunov functional.

**AMS (MOS) Subject Classifications:** 34K20, 93D09, 93D20.

**ISSN** 1814-0432, 2019, <http://ijmcs.future-in-tech.net>

and so on. For example, functional differential equations of neutral type are used as models of loss less transmission lines, partial element equivalent circuits (see Bellen et al. [3]), steam or water pipes, heat exchangers, (see Kolmanovskii and Myshkis [13]), control of constrained manipulators with delay measurements in mechanical engineering (see Niculescu and Brogliato [18]) and so on.

The traditional approaches to problems of qualitative analysis of time-varying functional differential equations of neutral type are based on the second method of Lyapunov and its variants. In general, it is not easy to tackle the problem of qualitative analysis of time-varying functional differential equations of neutral type. However, problems of qualitative properties of various forms of functional differential equations of neutral type have been studied intensively in the literature during the past decades, e.g. Agarwal and Grace [1], Altun and Tunç [2], Bellen et al. [3], Biçer and Tunç [4], Deng et al. [5], Gopalsamy [6], Gopalsamy et al. [7], Gopalsamy and Lung [8], Gopalsamy and Zhang [9], Gozen and Tunç [10], Gyori and Ladas [11], Hale [12], Kolmanovskii and Myshkis [13], ] Krishnasamy and Balasubramaniam [14], Kwon and Park [15], Li and Jiang [16], Nam and Phat [17], Niculescu and Brogliato [18], Park [19], Rojsiraphisal and Niamsup [20], Ren and Li [21], Shanholt [22], Sun [23], Tang and Zou [24], Tunç ([25], [26], [27], [28],[29]), Zhang and Gopalsamy ([30], [31]).

In addition, we mention the following related results.

The asymptotic behaviors of solutions of the following differential equation with constant delay:

$$\frac{dx}{dt} + p(t)x + q(t)x(t - \sigma) = 0$$

or its different variants have been discussed in details by Gopalsamy [6], Gyori and Ladas [11] and Hale [12].

Later, in 2000, Agarwal and Grace [1] investigated the convergence of solutions to the following neutral differential equation with constant delay:

$$\frac{d}{dt}[x + c(t)x(t - \tau)] + p(t)x + q(t)x(t - \sigma) = 0. \quad (1.1)$$

In this paper, motivated by the works mentioned, we consider the following neutral differential equation with multiple constant delays:

$$\frac{d}{dt}[x + \sum_{i=1}^n c_i(t)x(t - \tau_i)] + \sum_{i=1}^n p_i(t)x + \sum_{i=1}^n q_i(t)x(t - \sigma_i) = 0, \quad (1.2)$$

where  $\tau_i$  and  $\sigma_i, i = 1, 2, \dots, n$ , are positive real numbers,  $\sigma_i \geq \tau_i, c_i, p_i, q_i : [t_0, \infty) \rightarrow [0, \infty)$  are continuous functions such that  $c_i(t), i = 1, 2, \dots, n$ , are differentiable and have bounded derivatives. It can be seen that equation (1.2) includes equation (1.1) of [1] and the related ones in ([6], [11], [12]). The purpose of this article is to give new sufficient conditions, which guarantee that all solutions of equation (1.2) are square integrable and approach zero as  $t \rightarrow \infty$ . By defining a suitable Lyapunov functional, we prove a new theorem on the topic. Our result extends and improves the results of Agarwal and Grace [1, Theorem 1], Gopalsamy[6], Gyori and Ladas [11], Hale [12] and some recent results in the literature. Throughout the paper,  $x$  represents  $x(t)$ .

## 2 Square integrability and asymptotic stability

First, the following lemma is needed.

**Lemma 1.** Let  $p \in [0, 1), \tau \in (0, \infty), t_0 \in R, x \in C[(t_0 - \tau, \infty), R^+]$  and assume that for every  $\varepsilon > 0$  there exists a  $t_\varepsilon \geq t_0$  such that:

$$x(t) \leq (p + \varepsilon)x(t - \tau) + \varepsilon \quad \text{for } t \geq t_\varepsilon.$$

Then

$$\lim_{t \rightarrow \infty} x(t) = 0.$$

**Proof.** See Gyori and Ladas [11].

We now assume the following hypotheses in the main result of this paper.

### Hypotheses

Suppose the following hypotheses hold.

#### (H1)

$$p_{1i} \leq p_i(t) \leq p_{2i}, q_{1i} \leq q_i(t) \leq q_{2i}, c_i(t) \leq c_{1i} < 1, |\dot{c}_i(t)| \leq c_{2i} \quad \text{for all } t \geq t_0,$$

where  $c_{1i}, c_{2i}, p_{1i}, p_{2i}$ , and  $q_{2i}$  are nonnegative constants.

#### (H2)

$$p_{1i} + q_{1i} > (p_{2i} + q_{2i})(c_{1i} + iq_{2i}\sigma_i), i = 1, 2, \dots, n.$$

#### (H3)

$$\sum_{i=1}^n p_{2i} \sum_{i=1}^n q_{2i}\sigma_i \geq \sum_{i=1}^n q_{2i} \sum_{i=1}^n p_{2i}\sigma_i.$$

**Theorem 1.** If hypotheses (H1) and (H2) hold, then every solution  $x(t)$  of equation (1.2) is square integrable and satisfies  $x(t) \rightarrow 0$  as  $t \rightarrow \infty$ .

**Proof.** Let

$$y(t) = x(t) + \sum_{i=1}^n c_i(t)x(t - \tau_i).$$

We define a new Lyapunov functional  $V = V(t)$  by

$$\begin{aligned} V(t) = & (y(t) - \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i)x(s)ds)^2 \\ & + \sum_{i=1}^n \int_{t-\sigma_i}^t [p_i(s + \sigma_i) + q_i(s + 2\sigma_i)] \left( \sum_{i=1}^n \int_s^t q_i(u + \sigma_i)x^2(u)du \right) ds \\ & + \sum_{i=1}^n \int_{t-\tau_i}^t [p_i(s + \tau_i) + q_i(s + \sigma_i + \tau_i)] c_i(s + \tau_i)x^2(s)ds. \end{aligned}$$

It is clear that the above Lyapunov functional is positive definite.

Next, we calculate the time derivative of the functional  $V$  along solutions of equation (1.2). Then

$$\begin{aligned} \frac{dV(t)}{dt} = & 2(y(t) - \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i)x(s)ds) \\ & \times (y'(t) - \sum_{i=1}^n q_i(t + \sigma_i)x(t) + \sum_{i=1}^n q_i(t)x(t - \sigma_i)) \\ & - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(u + \sigma_i)x^2(u)du \\ & + \sum_{i=1}^n \int_{t-\sigma_i}^t [p_i(s + \sigma_i) + q_i(s + 2\sigma_i)] \sum_{i=1}^n q_i(t + \sigma_i)x^2(t)ds \\ & + \sum_{i=1}^n [p_i(t + \tau_i) + q_i(t + \sigma_i + \tau_i)] c_i(t + \tau_i)x^2(t) \\ & - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] c_i(t)x^2(t - \tau_i). \end{aligned}$$

Using equation (1.2) and some elementary estimates, it follows that

$$\begin{aligned}
\frac{dV(t)}{dt} &= 2(y - \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i)x(s)ds) \\
&\quad \times \left( \sum_{i=1}^n p_i(t)x + \sum_{i=1}^n q_i(t)x(t - \sigma_i) + \sum_{i=1}^n q_i(t + \sigma_i)x - \sum_{i=1}^n q_i(t)x(t - \sigma_i) \right) \\
&\quad - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(u + \sigma_i)x^2(u)du \\
&\quad + \sum_{i=1}^n \int_{t-\sigma_i}^t [p_i(s + \sigma_i) + q_i(s + 2\sigma_i)] \sum_{i=1}^n q_i(t + \sigma_i)x^2(t)ds \\
&\quad + \sum_{i=1}^n [p_i(t + \tau_i) + q_i(t + \sigma_i + \tau_i)]c_i(t + \tau_i)x^2 \\
&\quad - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)]c_i(t)x^2(t - \tau_i) = -2(x + \sum_{i=1}^n c_i(t)x(t - \tau_i)) \\
&\quad - \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i)x(s)ds \times \left( \sum_{i=1}^n (p_i(t) + q_i(t + \sigma_i))x \right) \\
&\quad - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(u + \sigma_i)x^2(u)du \\
&\quad + \sum_{i=1}^n \int_{t-\sigma_i}^t [p_i(s + \sigma_i) + q_i(s + 2\sigma_i)] \sum_{i=1}^n q_i(t + \sigma_i)x^2(t)ds \\
&\quad + \sum_{i=1}^n [p_i(t + \tau_i) + q_i(t + \sigma_i + \tau_i)]c_i(t + \tau_i)x^2 - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)]c_i(t)x^2(t - \tau_i) \\
&= -2 \left[ \sum_{i=1}^n p_i(t) + q_i(t + \sigma_i) \right] x^2 - 2 \left[ \sum_{i=1}^n p_i(t) + q_i(t + \sigma_i) \right] x(t) \sum_{i=1}^n c_i(t)x(t - \tau_i) \\
&\quad + 2 \left[ \sum_{i=1}^n p_i(t) + q_i(t + \sigma_i) \right] x(t) \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i)x(s)ds \\
&\quad - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(u + \sigma_i)x^2(u)du \\
&\quad + \sum_{i=1}^n \int_{t-\sigma_i}^t [p_i(s + \sigma_i) + q_i(s + 2\sigma_i)] \sum_{i=1}^n q_i(t + \sigma_i)x^2(t)ds \\
&\quad + \sum_{i=1}^n [p_i(t + \tau_i) + q_i(t + \sigma_i + \tau_i)]c_i(t + \tau_i)x^2 - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)]c_i(t)x^2(t - \tau_i).
\end{aligned}$$

Using the inequality

$$2x(t)x(s) \leq x^2(t) + x^2(s),$$

we have

$$\begin{aligned} \frac{dV(t)}{dt} &\leq -2\left[\sum_{i=1}^n p_i(t) + q_i(t + \sigma_i)\right]x^2 \\ &\quad - 2\left[\sum_{i=1}^n p_i(t) + q_i(t + \sigma_i)\right]x(t) \sum_{i=1}^n c_i(t)x(t - \tau_i) \\ &\quad + \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)]x^2(t) \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i)ds \\ &\quad + \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i)x^2(s)ds \\ &\quad - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(u + \sigma_i)x^2(u)du \\ &\quad + \sum_{i=1}^n \int_{t-\sigma_i}^t [p_i(s + \sigma_i) + q_i(s + 2\sigma_i)] \sum_{i=1}^n q_i(t + \sigma_i)x^2(t)ds \\ &\quad + \sum_{i=1}^n [p_i(t + \tau_i) + q_i(t + \sigma_i + \tau_i)]c_i(t + \tau_i)x^2 \\ &\quad - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)]c_i(t)x^2(t - \tau_i). \end{aligned}$$

so that

$$\begin{aligned}
 \frac{dV(t)}{dt} \leq & -2 \left[ \sum_{i=1}^n p_i(t) + q_i(t + \sigma_i) \right] x^2 \\
 & - 2 \left[ \sum_{i=1}^n p_i(t) + q_i(t + \sigma_i) \right] x(t) \sum_{i=1}^n c_i(t) x(t - \tau_i) \\
 & + \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] x^2(t) \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i) ds \\
 & + \sum_{i=1}^n \int_{t-\sigma_i}^t [p_i(s + \sigma_i) + q_i(s + 2\sigma_i)] \sum_{i=1}^n q_i(t + \sigma_i) x^2(t) ds \\
 & + \sum_{i=1}^n [p_i(t + \tau_i) + q_i(t + \sigma_i + \tau_i)] c_i(t + \tau_i) x^2(t) \\
 & - \sum_{i=1}^n [p_i(t) + q_i(t + \sigma_i)] c_i(t) x^2(t - \tau_i).
 \end{aligned}$$

Using the equality

$$\alpha_i(t) = p_i(t) + q_i(t + \sigma_i), \quad i = 1, 2, \dots, n,$$

it follows that

$$\begin{aligned}
 \frac{dV(t)}{dt} \leq & \left\{ -2 \sum_{i=1}^n \alpha_i(t) + \sum_{i=1}^n \alpha_i(t + \tau_i) c_i(t + \tau_i) \right. \\
 & \left. + \sum_{i=1}^n \alpha_i(t) \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i) ds + \sum_{i=1}^n \alpha_i(t) c_i(t) \right\}
 \end{aligned}$$

$$\begin{aligned}
& + \sum_{i=1}^n q_i(t + \sigma_i) \sum_{i=1}^n \int_{t-\sigma_i}^t \alpha_i(s + \sigma_i) ds \} x^2 \\
& - \sum_{i=1}^n \alpha_i(t) c_i(t) [x(t - \tau_i) + x]^2 \\
& \leq \{ -2 \sum_{i=1}^n \alpha_i(t) + \sum_{i=1}^n \alpha_i(t + \tau_i) \} c_i(t + \tau_i) \\
& + \sum_{i=1}^n [\alpha_i(t) \sum_{i=1}^n \int_{t-\sigma_i}^t q_i(s + \sigma_i) ds + \sum_{i=1}^n \alpha_i(t) c_i(t) \\
& + \sum_{i=1}^n q_i(t + \sigma_i) \sum_{i=1}^n \int_{t-\sigma_i}^t \alpha_i(s + \sigma_i) ds \} x^2.
\end{aligned}$$

By hypotheses (H1), (H2) and (H3), we obtain

$$\begin{aligned}
\frac{dV(t)}{dt} & \leq \sum_{i=1}^n \{ -2p_{1i} - 2q_{1i} + (p_{2i} + q_{2i})c_{1i} + (p_{2i} + q_{2i}) \sum_{i=1}^n \int_{t-\sigma_i}^t q_{2i} ds + (p_{2i} + q_{2i})c_{1i} \\
& + q_{2i} \sum_{i=1}^n \int_{t-\sigma_i}^t (p_{2i} + q_{2i}) ds \} x^2 \\
& = \sum_{i=1}^n \{ -2(p_{1i} + q_{1i}) + 2(p_{2i} + q_{2i})c_{1i} + 2(p_{2i} + q_{2i}) \sum_{i=1}^n q_{2i}\sigma_i \} x^2 \\
& = -2 \sum_{i=1}^n \{ (p_{1i} + q_{1i}) - (p_{2i} + q_{2i})(c_{1i} + \sum_{i=1}^n q_{2i}\sigma_i) \} x^2, t \geq T \geq t_0.
\end{aligned}$$

An integration of both sides of the above inequality from  $T$  to  $t$  implies that

$$V(t) + 2 \sum_{i=1}^n \{ (p_{1i} + q_{1i}) - (p_{2i} + q_{2i})(c_{1i} + \sum_{i=1}^n q_{2i}\sigma_i) \} \int_T^t x^2(s) ds \leq V(T) < \infty.$$



Let

$$\begin{aligned} p_{11} + p_{12} + \dots + p_{1n} &= K, \\ p_{21} + p_{22} + \dots + p_{2n} &= L, \\ q_{11} + q_{12} + \dots + q_{1n} &= M, \\ q_{21} + q_{22} + \dots + q_{2n} &= N, \\ c_{11} + c_{12} + \dots + c_{1n} &= R, \\ q_{21}\sigma_1 + q_{22}\sigma_2 + \dots + q_{2n}\sigma_n &= S. \end{aligned}$$

Clearly

$$V(t) + 2[(K + M) - (L + N)(R + nS)] \int_T^t x^2(s)ds \leq V(T) < \infty.$$

Hence, the functional  $V(t)$  is bounded on  $[T, \infty)$  and  $x(t) \in L^2[T, \infty)$ . That is; the solution  $x(t)$  of equation (1.2) is square integrable. Since  $V(t)$  is bounded on  $[T, \infty)$ , it can easily be seen that there exists a constant  $K \geq 0$  such that

$$\begin{aligned} |x(t)| &\leq K + \sum_{i=1}^n c_{1i}|x(t - \tau_i)| + \sum_{i=1}^n \int_{t-\sigma_i}^t q(s + \sigma_i)|x(s)|ds \\ &\leq K + \sum_{i=1}^n c_{1i}|x(t - \tau_i)| + \sum_{i=1}^n q_{2i}\sigma_i \max_{t-\sigma_i \leq s \leq t} |x(s)| \\ &\leq K + \sum_{i=1}^n (c_{1i} + q_{2i}\sigma_i) \max_{t-\sigma_i \leq s \leq t} |x(s)|. \end{aligned}$$

In view of the results of Agarwal and Grace [1, Theorem 1] and Lemma 1; that is, Gyori and Ladas [11, Lemma 1.5.3], we conclude that the solution  $x(t)$  of equation (1.2) tends to zero when  $t$  goes to infinity. This finishes the proof of Theorem 1.

**Example 1.** We consider the following neutral differential equation with multiple constant delays:

$$\begin{aligned} &\frac{d}{dt} \left( x + \frac{1}{t}x(t - \tau_1) + \frac{1}{t^2}x(t - \tau_2) \right) + x \\ &+ \left( \frac{1}{t} + \frac{1}{t^2} \right) x(t - \sigma_1) + \left( \frac{1}{t^2} + \frac{2}{t^3} \right) x(t - \sigma_2), t \geq 3, \end{aligned}$$

which is a special case of equation (1.2) and where  $\tau_i$  and  $\sigma_i$  are positive real numbers with  $\sigma_i \geq \tau_i, i = 1, 2$ . Comparing the above equation with equation (1.2) and considering hypotheses (H1) and (H2), it follows that

$$\begin{aligned} c_1(t) &= \frac{1}{t} \leq \frac{1}{3} = c_{11} < 1, t \geq 3, \\ \dot{c}_1(t) &= \frac{1}{t^2}, |\dot{c}_1(t)| \leq \frac{1}{9} = c_{21}, t \geq 3, \\ c_2(t) &= \frac{1}{t^2} \leq \frac{1}{9} = c_{12} < 1, t \leq 3, \\ \dot{c}_2(t) &= -\frac{2}{t^3}, |\dot{c}_2(t)| \leq \frac{2}{27} = c_{22}, t \geq 3, \\ p_1(t) &= p_2(t) = 1, \end{aligned}$$

so that

$$\begin{aligned} p_{11} &= p_{21} = p_{12} = p_{22} = 1, \\ q_1(t) &= \frac{1}{t} + \frac{1}{t^2}, 0 = q_{11} \leq q_1(t) \leq \frac{4}{9} = q_{21}, t \geq 3, \\ q_2(t) &= \frac{1}{t^2} + \frac{2}{t^3}, 0 = q_{12} \leq q_2(t) \leq \frac{5}{27} = q_{22}, t \geq 3. \end{aligned}$$

Moreover, we have

$$p_{11} + q_{11} = 1 > \frac{13}{9} \left( \frac{1}{3} + \frac{4}{9} \sigma_1 \right) = (p_{21} + q_{21})(c_{11} + q_{21} \sigma_1)$$

if  $\sigma_1 < \frac{126}{156}$ , and

$$p_{12} + q_{12} = 1 > \frac{32}{27} \left( \frac{1}{9} + 2 \frac{5}{27} \sigma_2 \right) = (p_{22} + q_{22})(c_{12} + 2q_{22} \sigma_2)$$

if  $\sigma_2 < \frac{5697}{2880}$ .

We conclude that

$$(p_{21} + p_{22})(q_{21} \sigma_1 + q_{22} \sigma_2) \geq (q_{21} + q_{22})(p_{21} \sigma_1 + p_{22} \sigma_2)$$

if  $(1 + 1) \left( \frac{4}{9} \sigma_1 + \frac{5}{27} \sigma_2 \right) \geq \left( \frac{4}{9} + \frac{5}{27} \right) (\sigma_1 + \sigma_2)$ .

Hence, all the conditions of Theorem 1 hold if the inequalities  $\tau_1 \leq \sigma_1 < \frac{126}{156}$  and  $\tau_2 \leq \sigma_2 < \frac{5697}{2880}$  hold. In addition, the above given equation has the solution  $x(t) = e^{-t}$  so that  $x(t) \rightarrow 0$  as  $t \rightarrow \infty$ . Obviously the solution  $x(t) = e^{-t}$  is square integrable on the interval on  $[T, \infty)$ .

### 3 Discussion

We pay our attention to a linear functional differential equation of first order and neutral type with multiple constant delays. We establish new criteria for the square integrability and asymptotic stability of solutions to the equation considered by defining a new Lyapunov functional. Namely, by Theorem 1, we improve and extend the square integrable and asymptotic stability results that can be seen in the literature from very simple linear cases to a more general linear functional differential equation with multiple constant delays (see Agarwal and Grace [1], Gopalsamy [6], Gyori and Ladas [11] and Hale [12]). By means of the result obtained, we improve and extend the previous results in the literature. We give an example to show applicability of the result obtained and for illustrations.

### References

- [1] R. P. Agarwal, S. R. Grace, Asymptotic stability of certain neutral differential equations, *Math. Comput. Modelling*, **31**, no. 8-9, (2000), 9-15.
- [2] Y. Altun, C. Tunç, On the global stability of a neutral differential equation with variable time-lags, *Bull. Math. Anal. Appl.*, **9**, no. 4, (2017), 31-41.
- [3] A. Bellen, N. Guglielmi, A. E. Ruehli, Methods for linear systems of circuit delay differential equations of neutral type, *Darlington memorial issue*, *IEEE Trans. Circuits Systems I Fund. Theory Appl.*, **46**, no. 1, (1999), 212-216
- [4] E. Biçer, C. Tunç, On the existence of periodic solutions to non-linear neutral differential equations of first order with multiple delays, *Proc. Pakistan Acad. Sci.*, **52**, no. 1, (2015), 89-94.
- [5] Shaojiang Deng, Xiaofeng Liao, Songtao Guo, Asymptotic stability analysis of certain neutral differential equations: a descriptor system approach, *Math. Comput. Simulation*, **79**, no. 10, (2009), 2981-2993.
- [6] K. Gopalsamy, *Stability and oscillations in delay differential equations of population dynamics*, *Mathematics and its Applications*, Vol. 74, Kluwer Academic Publishers Group, Dordrecht, 1992.

- [7] K. Gopalsamy, Xue Zhong He, Li Zhi Wen, On a periodic neutral logistic equation, *Glasgow Math. J.*, **33**, no. 3, (1991), 281-286.
- [8] K. Gopalsamy, I. Lung, Convergence under dynamical thresholds with delays, *IEEE Trans Neutral Networks*, **8**, (1997), 341-348.
- [9] K. Gopalsamy, B. G. Zhang, On a neutral delay logistic equation, *Dynam. Stability Systems*, **2**, no. 3-4, (1987), 183-195.
- [10] M. Gozen, C. Tunç, On exponential stability of solutions of neutral differential systems with multiple variable delays, *Electronic J. Math. Anal. Appl.*, **5**, no. 1, (2017), 17-31.
- [11] I. Gyori, G. Ladas, *Oscillation theory of delay differential equations with applications*, Oxford Mathematical Monographs, 1991.
- [12] J. Hale, *Theory of functional differential equations*, Second edition, Applied Mathematical Sciences, Vol. 3, Springer-Verlag, New York-Heidelberg, 1977.
- [13] V. Kolmanovskii, A. Myshkis, *Introduction to the theory and applications of functional-differential equations*, Mathematics and its Applications, Vol. 463, Kluwer Academic Publishers, Dordrecht, 1999.
- [14] R. Krishnasamy, P. Balasubramaniam, A descriptor system approach to the delay-dependent exponential stability analysis for switched neutral systems with nonlinear perturbations, *Nonlinear Anal. Hybrid Syst.*, **15**, (2015), 23-36.
- [15] O. M. Kwon, Ju. H.; Park, On improved delay-dependent stability criterion of certain neutral differential equations, *Appl. Math. Comput.*, **199**, no. 1, (2008), 385-391.
- [16] Xiao Ping Li, Jian Chu Jiang, Asymptotic stability for neutral delay differential equation, *Acta Math. Sci. Ser. A (Chinese Ed.)*, **22**, no. 2, (2002), 163-170.
- [17] P. T. Nam, V. N. Phat, An improved stability criterion for a class of neutral differential equations, *Appl. Math. Lett.*, **22**, no. 1, (2009), 31-35.
- [18] S. I. Niculescu, B., Brogliato, Force measurement time-delays and contact instability phenomenon, *European Journal of Control*, **5**, no. 2-4, (1999), 279-289.

- [19] Ju H. Park, LMI optimization approach to asymptotic stability of certain neutral delay differential equation with time-varying coefficients, *Appl. Math. Comput.*, **160**, no. 2, (2005), 355-361.
- [20] T. Rojsiraphisal, P. Niamsup, Exponential stability of certain neutral differential equations, *Appl. Math. Comput.*, **217**, no. 8, (2010), 3875-3880.
- [21] Hong-shan Ren, Hong-yan Li, Explicit asymptotic stability criteria for neutral differential equations with two delays, *Appl. Math. E-Notes*, **2**, (2002), 1-9.
- [22] G. A. Shanholt, Some stability results for neutral functional differential equations, *Int. J. Systems Sci.*, **5**, (1974), 453-456.
- [23] Y. Sun, On simple stability criteria for nonlinear neutral systems with multiple time delays, *Appl. Math. Lett.*, **25**, no. 11, (2012), 1911-1915.
- [24] X. H. Tang, Xingfu Zou, Asymptotic stability of a neutral differential equations, *Proc. Edinb. Math. Soc. (2)*, **45**, no. 2, (2002), 333-347.
- [25] C. Tunç, Asymptotic stability of nonlinear neutral differential equations with constant delays: a descriptor system approach, *Ann. Differential Equations*, **27**, no. 1, (2011), 1-8.
- [26] C. Tunç, Exponential stability to a neutral differential equation of first order with delay, *Ann. Differential Equations*, **29**, no. 3, (2013), 253-256.
- [27] C. Tunç, On the uniform asymptotic stability to certain first order neutral differential equations, *Cubo*, **16**, no. 2, (2014), 111-119.
- [28] C. Tunç, Asymptotic stability of solutions of a class of neutral differential equations with multiple deviating arguments, *Bull. Math. Soc. Sci. Math. Roumanie (N.S.)*, **57(105)**, no. 1, (2014), 121-130.
- [29] C. Tunç, Convergence of solutions of nonlinear neutral differential equations with multiple delays, *Bol. Soc. Mat. Mex. (3)*, **21**, no. 2, (2015), 219-231.
- [30] B. G. Zhang, K. Gopalsamy, Global attractivity and oscillations in a periodic delay-logistic equation, *J. Math. Anal. Appl.*, **150**, no. 1, (1990), 274-283.

- [31] B. G. Zhang, K. Gopalsamy, Global attractivity in the delay logistic equation with variable parameters, *Math. Proc. Cambridge Philos. Soc.*, **107**, no. 3, (1990), 579-590.